

# Research Article **A New Characterization of** *k***-Uniformly Rotund Banach Space**

### Suyalatu Wulede, Tingting Li, and Xuan Qin

College of Mathematics Science, Inner Mongolia Normal University, Hohhot 010022, China

Correspondence should be addressed to Suyalatu Wulede; suyila520@163.com

Received 3 October 2014; Accepted 15 February 2015

Academic Editor: Abdul Latif

Copyright © 2015 Suyalatu Wulede et al. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

A new characterization of k-uniformly rotund Banach space with  $1 < P < +\infty$  is given. Moreover, a corresponding result in the locally k-uniformly rotund Banach space with  $1 < P < +\infty$  is given.

#### 1. Introduction

In the geometric theory of Banach spaces the concept of uniform convexity plays a very significant role and is frequently used in functional analysis. The concept of a uniformly rotund (or uniformly convex) Banach space was first introduced by Clarkson [1] in 1936 and this class of Banach space is very interesting and has numerous applications (cf. [2– 8]). In 1979, Sullivan [9] introduced the *k*-uniformly rotund spaces as a generalization of uniformly rotund Banach spaces. Indeed, the 1-uniformly rotund Banach spaces.

The purpose of this paper is to give a character inequality of *k*-uniformly rotund Banach space (or locally *k*-uniformly rotund Banach space) with 1 . Throughout thesequel, the symbol*X* $denotes a real Banach space and <math>X^*$ denotes its dual space.  $B(X) = \{x : x \in X, \|x\| \le 1\}$  and  $S(X) = \{x : x \in X, \|x\| = 1\}$  denote, respectively, the unit ball and the unit sphere in *X*. For  $x_1, x_2, \ldots, x_{k+1} \in S(X)$ , the *k*-dimensional volume enclosed by  $x_1, x_2, \ldots, x_{k+1}$  is given by

$$A(x_{1}, x_{2}, \dots, x_{k+1}) = \sup \left\{ \begin{vmatrix} 1 & 1 & \cdots & 1 \\ f_{1}(x_{1}) & f_{1}(x_{2}) & \cdots & f_{1}(x_{k+1}) \\ \dots & \dots & \dots \\ f_{k}(x_{1}) & f_{k}(x_{2}) & \cdots & f_{k}(x_{k+1}) \end{vmatrix}; \right\}$$

$$f_i \in S(X^*), \ i = 1, \dots, k$$
. (1)

A Banach space *X* is said to be *k*-uniformly rotund [9] if, for any  $\epsilon > 0$ , there is a  $\delta(\epsilon) > 0$ , such that, for  $x_1, x_2, \ldots, x_{k+1} \in S(X)$ , if  $||x_1 + x_2 + \cdots + x_{k+1}|| > (k+1) - \delta$  then  $A(x_1, x_2, \ldots, x_{k+1}) < \epsilon$ .

A Banach space *X* is said to be locally *k*-uniformly rotund [9] if, for  $\forall \epsilon > 0, x \in S(X)$ , there is a  $\delta(\epsilon, x) > 0$ , such that, for  $x_1, \ldots, x_k \in S(X)$ , if  $||x + x_1 + \cdots + x_k|| > (k + 1) - \delta$  then  $A(x, x_1, \ldots, x_k) < \epsilon$ .

## 2. A New Characterization of *k*-Uniformly Rotund Banach Spaces

**Theorem 1.** Let 1 , let X be a Banach space,and let M be an arbitrary bounded subset of X. Then, X is k $uniformly rotund space if and only if, for any <math>\epsilon > 0$ , there exists  $0 < \delta(\epsilon, p) < 1$ , such that the inequality

$$\left\|\frac{x + x_1 + \dots + x_k}{k+1}\right\|^p \leq (1 - \delta(\epsilon, p)) \frac{\|x\|^p + \|x_1\|^p + \dots + \|x_k\|^p}{k+1}$$
(2)

holds for all  $x \in M$  and  $x_1, \ldots, x_k \in X$  with  $A(x, x_1, \ldots, x_k) \ge \epsilon$ .

In order to prove Theorem 1, we give three lemmas.

**Lemma 2** (Yu [10]). *X is k-uniformly rotund space if and only if for any* k + 1 *sequences* 

$$\left\{x_{1}^{(n)}\right\}_{n=1}^{\infty}, \left\{x_{2}^{(n)}\right\}_{n=1}^{\infty}, \dots, \left\{x_{k+1}^{(n)}\right\}_{n=1}^{\infty} \subset X,$$
(3)

 $\begin{array}{l} if \|x_i^{(n)}\| \to a \ (i=1,2,\ldots,k+1), \ \|x_1^{(n)}+x_2^{(n)}+\cdots+x_{k+1}^{(n)}\| \to (k+1)a, \ (n \to \infty), \ then \end{array}$ 

$$A\left(x_1^{(n)}, x_2^{(n)}, \dots, x_{k+1}^{(n)}\right) \longrightarrow 0, \quad (n \longrightarrow \infty).$$
 (4)

For the sake of completeness of this paper, here we present the proof of Lemma 2.

The sufficiency of Lemma 2 is clear.

The Proof of Necessity. Without loss of generality, we may assume that a = 1.

Suppose that  $\{x_i^{(n)}\}_{n=1}^{\infty} \subset X$  (i = 1, 2, ..., k + 1), satisfying the conditions given in Lemma 2. Then, for each  $\delta > 0$ , by the assumption that  $||x_1^{(n)} + x_2^{(n)} + \cdots + x_{k+1}^{(n)}|| \to k+1 \ (n \to \infty)$ , there exists  $N_0 > 0$ , such that the inequality

$$\left\|x_1^{(n)} + x_2^{(n)} + \dots + x_{k+1}^{(n)}\right\| > k + 1 - \frac{\delta}{2}$$
 (5)

holds for all  $n > N_0$ .

On the other hand, since  $||x_i^{(n)}|| \rightarrow 1$  (i = 1, 2, ..., k + 1,  $n \rightarrow \infty$ ), so there exists  $N_1 \ge N_0$ , such that the inequality

$$\left\| \left\| x_{i}^{(n)} \right\| - 1 \right\| < \frac{\delta}{2(k+1)}, \quad (i = 1, 2, \dots, k+1)$$
 (6)

holds for all  $n > N_1$ .

Therefore, by letting  $y_i^{(n)} = x_i^{(n)} / ||x_i^{(n)}||$ , i = 1, 2, ..., k + 1, n = 1, 2, ..., we can deduce that

$$\begin{aligned} \left\| y_{1}^{(n)} + y_{2}^{(n)} + \dots + y_{k+1}^{(n)} \right\| \\ &= \left\| x_{1}^{(n)} + \dots + x_{k+1}^{(n)} + y_{1}^{(n)} - x_{1}^{(n)} + \dots + y_{k+1}^{(n)} - x_{k+1}^{(n)} \right\| \\ &\ge \left\| x_{1}^{(n)} + \dots + x_{k+1}^{(n)} \right\| - \sum_{i=1}^{k+1} \left\| \frac{x_{i}^{(n)}}{\left\| x_{i}^{(n)} \right\|} - x_{i}^{(n)} \right\| \\ &> k + 1 - \frac{\delta}{2} - \frac{\delta(k+1)}{\delta(k+2)} \\ &= k + 1 - \delta. \end{aligned}$$
(7)

By the assumption that X is k-uniformly rotund space, we may take  $\delta = \delta(\epsilon/2)$  for any  $\epsilon > 0$ . Therefore, by the above proof, there exists an  $N_1$  corresponding to  $\delta = \delta(\epsilon/2)$  such that the inequality

$$A\left(y_1^{(n)}, y_2^{(n)}, \dots, y_{k+1}^{(n)}\right) < \frac{\epsilon}{2}$$
(8)

holds for all  $n > N_1$ .

Furthermore, by using inequality (8), we easily obtain the desired result that

$$A\left(x_1^{(n)}, x_2^{(n)}, \dots, x_{k+1}^{(n)}\right) \longrightarrow 0, \quad (n \longrightarrow \infty).$$
(9)

**Lemma 3.** Let 1 , then one has

$$\left(\frac{1+t_1+\dots+t_k}{k+1}\right)^p \le \frac{1+t_1^p+\dots+t_k^p}{k+1},$$
 (10)

where  $t_1, t_2, \ldots, t_k \ge 0$ , and the sign of equality holds if and only if  $t_1 = t_2 = \cdots = t_k = 1$ .

*Proof.* (1°) When k = 1, we construct a function  $f(t_1) = ((1 + t_1)/2)^p - (1 + t_1^p)/2$ ; then

$$f'(t_1) = \frac{p}{2} \left[ \left( \frac{1+t_1}{2} \right)^{p-1} - t_1^{p-1} \right].$$
(11)

Obviously,

$$f'(t_1) = 0 \quad \text{if } t_1 = 1$$
  

$$f'(t_1) > 0 \quad \text{if } t_1 < 1$$

$$f'(t_1) < 0 \quad \text{if } t_1 > 1.$$
(12)

It is easy to see that the function  $f(t_1)$  attains its maximum value at point  $t_1 = 1$  and f(1) = 0. Hence  $f(t_1) \le f(1) = 0$ ; that is,

$$\left(\frac{1+t_1}{2}\right)^p \le \frac{1+t_1^p}{2}.$$
(13)

And the sign of equality holds if and only if  $t_1 = 1$ .

(2°) Suppose the conclusion of Lemma 3 is true when k = n - 1; that is, the inequality

$$\left(\frac{1+t_1+\dots+t_{n-1}}{n}\right)^p \le \frac{1+t_1^p+\dots+t_{n-1}^p}{n}$$
(14)

holds and the sign of equality holds if and only if  $t_1 = t_2 = \cdots = t_{n-1} = 1$ .

(3°) When k = n, we construct a multivariate function

$$f(t_1, t_2, \dots, t_n) = \left(\frac{1 + t_1 + \dots + t_n}{n+1}\right)^p - \frac{1 + t_1^p + \dots + t_n^p}{n+1};$$
(15)

then

$$\frac{\partial f}{\partial t_n} = \frac{p}{n+1} \left\{ \left( \frac{1+t_1+\dots+t_n}{n+1} \right)^{p-1} - t_n^{p-1} \right\}.$$
 (16)

Now, let us fix variables  $t_1, t_2, \ldots, t_{n-1}$ . Then the function  $f(t_1, t_2, \ldots, t_n)$  attains its maximum value at point  $t_n = (1 + t_1 + \cdots + t_{n-1})/n$ . Hence

$$f(t_{1}, t_{2}, \dots, t_{n}) \leq \left(\frac{1+t_{1}+\dots+t_{n-1}+(1+t_{1}+\dots+t_{n-1})/n}{n+1}\right)^{p} - \frac{1+t_{1}^{p}+\dots+t_{n-1}^{p}+((1+t_{1}+\dots+t_{n-1})/n)^{p}}{n+1} = \frac{n}{n+1} \left\{ \left(\frac{1+t_{1}+\dots+t_{n-1}}{n}\right)^{p} - \frac{1+t_{1}^{p}+\dots+t_{n-1}^{p}}{n} \right\} \leq 0.$$

$$\leq 0.$$
(17)

This shows that the inequality

$$\left(\frac{1+t_1+\dots+t_n}{n+1}\right)^p \le \frac{1+t_1^p+\dots+t_n^p}{n+1}$$
(18)

holds and the sign of equality holds if and only if  $t_1 = t_2 = \cdots = t_n = 1$ .

Combining  $(1^{\circ})$ ,  $(2^{\circ})$ , and  $(3^{\circ})$ , we have

$$\left(\frac{1+t_1+\dots+t_k}{k+1}\right)^p \le \frac{1+t_1^p+\dots+t_k^p}{k+1},$$
 (19)

and the sign of equality holds if and only if  $t_1 = t_2 = \cdots = t_k = 1$ .

**Lemma 4.** Let 1 , then one has

$$\frac{\left(\left(1+t_{1}+\dots+t_{k}\right)/(k+1)\right)^{p}}{\left(1+t_{1}^{p}+\dots+t_{k}^{p}\right)/(k+1)} \leq \frac{1}{(k+1)^{p-1}} \left(k-1+\left(\frac{\left(1+t_{1}\right)^{p}}{1+t_{1}^{p}}\right)^{1/(p-1)}\right)^{p-1}, \quad (20)$$

where  $t_1, t_2, ..., t_k \ge 0$ .

*Proof.* (1°) When k = 1, the conclusion of Lemma 4 is obvious. When k = 2, we construct a function

$$f(t_1, t_2) = \frac{\left(\left(1 + t_1 + t_2\right)/3\right)^p}{\left(1 + t_1^p + t_2^p\right)/3} = \frac{1}{3^{p-1}} \frac{\left(1 + t_1 + t_2\right)^p}{1 + t_1^p + t_2^p}; \quad (21)$$

then

$$\frac{\partial f}{\partial t_2} = \frac{1}{3^{p-1}} \frac{p\left(1 + t_1 + t_2\right)^{p-1} \left\{1 + t_1^p - t_2^{p-1} - t_2^{p-1} t_1\right\}}{\left(1 + t_1^p + t_2^p\right)^2}.$$
 (22)

It is easy to see that the function  $f(t_1, t_2)$  attains its maximum value at point  $t_2 = ((1 + t_1^p)/(1 + t_1))^{1/(p-1)}$ . Hence

$$f(t_{1},t_{2}) \leq \frac{1}{3^{p-1}} \frac{\left(1 + t_{1} + \left(\left(1 + t_{1}^{p}\right) / \left(1 + t_{1}\right)\right)^{1/(p-1)}\right)^{p}}{1 + t_{1}^{p} + \left(\left(1 + t_{1}^{p}\right) / \left(1 + t_{1}\right)\right)^{p/(p-1)}} \\ = \frac{1}{3^{p-1}} \left(1 + \left(\frac{\left(1 + t_{1}\right)^{p}}{1 + t_{1}^{p}}\right)^{1/(p-1)}\right)^{p-1}.$$
(23)

(2°) Suppose the conclusion of Lemma 4 is true when k = n - 1; that is, we have

$$\frac{\left(\left(1+t_{1}+\dots+t_{n-1}\right)/n\right)^{p}}{\left(1+t_{1}^{p}+\dots+t_{n-1}^{p}\right)/n} \leq \frac{1}{n^{p+1}}\left(n-2+\left(\frac{\left(1+t_{1}\right)^{p}}{1+t_{1}^{p}}\right)^{1/(p-1)}\right)^{p-1}.$$
(24)

(3°) When k = n, we construct a multivariate function

$$f(t_1, t_2, \dots, t_n) = \frac{\left(\left(1 + t_1 + \dots + t_n\right) / (n+1)\right)^p}{\left(1 + t_1^p + \dots + t_n^p\right) / (n+1)}$$

$$= \frac{1}{(n+1)^{p-1}} \frac{\left(1 + t_1 + \dots + t_n\right)^p}{1 + t_1^p + \dots + t_n^p};$$
(25)

then

$$\frac{\partial f}{\partial t_n} = \frac{1}{(n+1)^{p-1}} \frac{p \left(1 + t_1 + \dots + t_n\right)^{p-1} \left\{1 + t_1^p + \dots + t_{n-1}^p - t_n^p \left(1 + t_1 + \dots + t_{n-1}\right)\right\}}{\left(1 + t_1^p + \dots + t_n^p\right)^2}.$$
(26)

Now, let us fix variables  $t_1, t_2, \ldots, t_{n-1}$ . Then the function  $f(t_1, t_2, \ldots, t_n)$  attains its maximum value at point  $t_n = ((1 + t_1^p + \cdots + t_{n-1}^p)/(1 + t_1 + \cdots + t_{n-1}))^{1/(p-1)}$ . Hence,

$$f(t_{1}, t_{2}, \dots, t_{n}) \leq \frac{1}{(n+1)^{p-1}} \frac{\left(1 + t_{1} + \dots + t_{n-1} + \left(\left(1 + t_{1}^{p} + \dots + t_{n-1}^{p}\right) / \left(1 + t_{1} + \dots + t_{n-1}\right)\right)^{1/(p-1)}\right)^{p}}{1 + t_{1}^{p} + \dots + t_{n-1}^{p} + \left(\left(1 + t_{1}^{p} + \dots + t_{n-1}^{p}\right) / \left(1 + t_{1} + \dots + t_{n-1}\right)\right)^{p/(p-1)}}{\left(1 + \left(\frac{(1 + t_{1} + \dots + t_{n-1})^{p}}{1 + t_{1}^{p} + \dots + t_{n-1}^{p}}\right)^{1/(p-1)}\right)^{p-1}}.$$

$$(27)$$

By using inequality (24) we have

$$\frac{\left(\left(1+t_{1}+\dots+t_{n}\right)/(n+1)\right)^{p}}{\left(1+t_{1}^{p}+\dots+t_{n}^{p}\right)/(n+1)} \leq \frac{1}{(n+1)^{p-1}} \left(1+\left(\frac{\left(1+t_{1}+\dots+t_{n-1}\right)^{p}}{1+t_{1}^{p}+\dots+t_{n-1}^{p}}\right)^{1/(p-1)}\right)^{p-1} \leq \frac{1}{(n+1)^{p-1}} \left(n-1+\left(\frac{\left(1+t_{1}\right)^{p}}{1+t_{1}^{p}}\right)^{1/(p-1)}\right)^{p-1}.$$
(28)

Combining  $(1^{\circ})$ ,  $(2^{\circ})$ , and  $(3^{\circ})$ , we have

$$\frac{\left(\left(1+t_{1}+\dots+t_{k}\right)/(k+1)\right)^{p}}{\left(1+t_{1}^{p}+\dots+t_{k}^{p}\right)/(k+1)}$$

$$\leq \frac{1}{(k+1)^{p-1}} \left(k-1+\left(\frac{\left(1+t_{1}\right)^{p}}{1+t_{1}^{p}}\right)^{1/(p-1)}\right)^{p-1}.$$
(29)

Proof of Theorem 1.

*Proof of Sufficiency*. Suppose that, for  $\forall \epsilon > 0$ , there is a  $0 < \delta_1 = \delta_1(\epsilon, p) < 1$ , such that the inequality

$$\left\|\frac{x_1 + x_2 + \dots + x_{k+1}}{k+1}\right\|^p \le 1 - \delta_1 \tag{30}$$

holds for all  $x_1, x_2, \ldots, x_{k+1} \in S(X)$  with  $A(x_1, x_2, \ldots, x_{k+1}) \ge \epsilon$ .

Let  $\delta_2 = 1 - (1 - \delta_1)^{1/p} > 0$  and  $\delta = (k + 1)\delta_2$ ; then  $\|x_1 + x_2 + \dots + x_{k+1}\| \le 1 - \delta$ .

By the definition of *k*-uniformly rotund space, we know that *X* is *k*-uniformly rotund space.

*Proof of Necessity*. Suppose inequality (2) is not true. Then there exist  $b \in \mathbb{R}^+$ ,  $\epsilon_0 > 0$ , such that, for  $\forall 1/n > 0$ , there exist

 $\{x_1^{(n)}\}_{n=1}^{\infty}, \{x_2^{(n)}\}_{n=1}^{\infty}, \dots, \{x_{k+1}^{(n)}\}_{n=1}^{\infty} \in X, \text{ satisfying } \|x_1^{(n)}\| \le b.$ When  $A(x_1^{(n)}, x_2^{(n)}, \dots, x_{k+1}^{(n)}) \ge \epsilon_0$ , we have

$$\left\|\frac{x_{1}^{(n)} + x_{2}^{(n)} + \dots + x_{k+1}^{(n)}}{k+1}\right\|^{p} \\ > \left(1 - \frac{1}{n}\right) \frac{\left\|x_{1}^{(n)}\right\|^{p} + \left\|x_{2}^{(n)}\right\|^{p} + \dots + \left\|x_{k+1}^{(n)}\right\|^{p}}{k+1}.$$
(31)

Take  $u_1^{(n)} = x_1^{(n)} / ||x_1^{(n)}||, u_2^{(n)} = x_2^{(n)} / ||x_1^{(n)}||, \dots, u_{k+1}^{(n)} = x_{k+1}^{(n)} / ||x_1^{(n)}||$ . Then

$$\begin{aligned} \left\| u_{1}^{(n)} \right\| &= 1, \\ A\left(u_{1}^{(n)}, u_{2}^{(n)}, \dots, u_{k+1}^{(n)}\right) &= \frac{1}{\left\| x_{1}^{(n)} \right\|^{k}} A\left(x_{1}^{(n)}, x_{2}^{(n)}, \dots, x_{k+1}^{(n)}\right) \\ &\geq \frac{\epsilon_{0}}{b^{k}}. \end{aligned}$$
(32)

By Lemma 3 we know that

$$1 - \frac{1}{n} < \frac{\left\| \left( u_{1}^{(n)} + u_{2}^{(n)} + \dots + u_{k+1}^{(n)} \right) / (k+1) \right\|^{p}}{\left( \left\| u_{1}^{(n)} \right\|^{p} + \left\| u_{2}^{(n)} \right\|^{p} + \dots + \left\| u_{k+1}^{(n)} \right\|^{p} \right) / (k+1)}$$

$$\leq \frac{\left( \left( 1 + \left\| u_{2}^{(n)} \right\| + \dots + \left\| u_{k+1}^{(n)} \right\| \right) / (k+1) \right)^{p}}{\left( 1 + \left\| u_{2}^{(n)} \right\|^{p} + \dots + \left\| u_{k+1}^{(n)} \right\|^{p} \right) / (k+1)} \le 1.$$
(33)

It follows that

$$\lim_{n \to \infty} \frac{\left\| \left( u_1^{(n)} + u_2^{(n)} + \dots + u_{k+1}^{(n)} \right) / (k+1) \right\|^p}{\left( \left\| u_1^{(n)} \right\|^p + \left\| u_2^{(n)} \right\|^p + \dots + \left\| u_{k+1}^{(n)} \right\|^p \right) / (k+1)} = 1.$$
(34)

Now we prove that

$$\lim_{n \to \infty} \left\| u_i^{(n)} \right\| = 1, \quad i = 2, 3, \dots, k+1.$$
(35)

If (35) does not hold, then there exists subsequence  $\{u_j^{(n_i)}\}$  of  $\{u_j^{(n)}\}$  satisfying

$$\|u_{j}^{(n_{i})}\| \le \alpha_{j-1} < 1 \quad \text{or} \quad \|u_{j}^{(n_{i})}\| \ge \alpha_{j-1} > 1,$$
  
 $j = 2, \dots, k+1.$  (36)

Hence, by Lemma 4 we have

$$\frac{\left\|\left(u_{1}^{(n_{i})}+u_{2}^{(n_{i})}+\cdots+u_{k+1}^{(n_{i})}\right)/(k+1)\right\|^{p}}{\left(\left\|u_{1}^{(n_{i})}\right\|^{p}+\left\|u_{2}^{(n_{i})}\right\|^{p}+\cdots+\left\|u_{k+1}^{(n_{i})}\right\|^{p}\right)/(k+1)} \leq \frac{1}{(k+1)^{p-1}}\frac{\left(1+\left\|u_{2}^{(n_{i})}\right\|+\cdots+\left\|u_{k+1}^{(n_{i})}\right\|\right)^{p}}{1+\left\|u_{2}^{(n_{i})}\right\|^{p}+\cdots+\left\|u_{k+1}^{(n_{i})}\right\|^{p}} \leq \frac{1}{(k+1)^{p-1}}\left(k-1+\left(\frac{\left(1+\left\|u_{2}^{(n_{i})}\right\|\right)^{p}}{1+\left\|u_{2}^{(n_{i})}\right\|^{p}}\right)^{1/(p-1)}\right)^{p-1}.$$
(37)

Considering a function  $(1 + t)^p/(1 + t^p)$  and noticing that

$$\left(\frac{(1+t)^{p}}{1+t^{p}}\right)'(t) = \frac{p(1+t)^{p-1}(1+t^{p}) - pt^{p-1}(1+t)^{p}}{(1+t^{p})^{2}}$$
$$= \frac{p(1+t)^{p-1}(1-t^{p-1})}{(1+t^{p})^{2}},$$
(38)

we know that  $(1+t)^p/(1+t^p)$  is strictly increasing (decreasing) function when t < 1 (t > 1) and attains its maximum value at point t = 1.

Hence

$$\frac{\left\|\left(u_{1}^{(n_{i})}+u_{2}^{(n_{i})}+\dots+u_{k+1}^{(n_{i})}\right)/(k+1)\right\|^{p}}{\left(\left\|u_{1}^{(n_{i})}\right\|^{p}+\left\|u_{2}^{(n_{i})}\right\|^{p}+\dots+\left\|u_{k+1}^{(n_{i})}\right\|^{p}\right)/(k+1)} \\
\leq \frac{1}{(k+1)^{p-1}}\left(k-1+\left(\frac{\left(1+\left\|u_{2}^{(n_{i})}\right\|\right)^{p}}{1+\left\|u_{2}^{(n_{i})}\right\|^{p}}\right)^{1/(p-1)}\right)^{p-1} \\
\leq \frac{1}{(k+1)^{p-1}}\left(k-1+\left(\frac{\left(1+\alpha_{1}\right)^{p}}{1+\alpha_{1}^{p}}\right)^{1/(p-1)}\right)^{p-1} \\
< 1;$$
(39)

this contradicts (34), so  $\lim_{n \to \infty} ||u_2^{(n)}|| = 1$ .

Similarly, we can deduce that  $\lim_{n\to\infty} ||u_3^{(n)}|| = 1, \ldots, \lim_{n\to\infty} ||u_{k+1}^{(n)}|| = 1$ . It follows that

$$\lim_{n \to \infty} \left\| \frac{u_1^{(n)} + u_2^{(n)} + \dots + u_{k+1}^{(n)}}{k+1} \right\| = 1.$$
 (40)

Let 
$$z_n = u_{k+1}^{(n)} / \|u_{k+1}^{(n)}\|$$
; then  
 $\|z_n - u_{k+1}^{(n)}\| = \left\| \frac{u_{k+1}^{(n)}}{\|u_{k+1}^{(n)}\|} - u_{k+1}^{(n)} \right\| \longrightarrow 0, \quad (n \longrightarrow \infty),$   
 $1 = \lim_{n \to \infty} \left\| \frac{u_1^{(n)} + u_2^{(n)} + \dots + u_{k+1}^{(n)}}{k+1} \right\|$   
 $\leq \lim_{n \to \infty} \left( \left\| \frac{u_1^{(n)} + u_2^{(n)} + \dots + z_n}{k+1} \right\| + \left\| \frac{u_{k+1}^{(n)} - z_n}{k+1} \right\| \right)$  (41)  
 $= \lim_{n \to \infty} \left\| \frac{u_1^{(n)} + u_2^{(n)} + \dots + z_n}{k+1} \right\|$   
 $\leq 1.$ 

This means that

$$\lim_{n \to \infty} \left\| \frac{u_1^{(n)} + u_2^{(n)} + \dots + z_n}{k+1} \right\| = 1.$$
 (42)

But

$$\lim_{n \to \infty} A\left(u_{1}^{(n)}, u_{2}^{(n)}, \dots, z_{n}\right) = \lim_{n \to \infty} A\left(u_{1}^{(n)}, u_{2}^{(n)}, \dots, u_{k+1}^{(n)}\right)$$
$$\geq \frac{\epsilon_{o}}{b^{k}}.$$
(43)

This contradicts that X is k-uniformly rotund space from Lemma 2.

**Theorem 5.** Let  $1 , let X be a Banach space, and let M be an arbitrary bounded subset of X. Then, X is locally k-uniformly rotund space if and only if, for any <math>\epsilon > 0$  and  $x_1 \in M$ , there exists  $0 < \delta(\epsilon, p, x_1) < 1$ , such that the inequality

. .

$$\left\|\frac{x_{1} + x_{2} + \dots + x_{k+1}}{k+1}\right\|^{p} \leq \left(1 - \delta\left(\epsilon, p, x_{1}\right)\right) \frac{\|x_{1}\|^{p} + \|x_{2}\|^{p} + \dots + \|x_{k+1}\|^{p}}{k+1}$$

$$(44)$$

holds for all  $x_2, x_3, \ldots, x_{k+1} \in X$  with  $A(x_1, x_2, \ldots, x_{k+1}) \ge \epsilon$ .

The proof of Theorem 5 is greatly similar to the proof of Theorem 1.

In particular, considering the special cases of Theorems 1 and 5 when k = 1, we give a new characterization of uniformly rotund (resp., locally uniformly rotund) Banach space; that is, we have the following two corollaries.

**Corollary 6.** Let 1 , let X be a Banach space,and let M be an arbitrary bounded subset of X. Then, X is $uniformly rotund space if and only if, for any <math>\epsilon > 0$ , there exists  $0 < \delta(\epsilon, p) < 1$ , such that the inequality

$$\left\|\frac{x+y}{2}\right\|^{p} \le \left(1-\delta\left(\epsilon,p\right)\right)\frac{\left\|x\right\|^{p}+\left\|y\right\|^{p}}{2} \tag{45}$$

holds for all  $x \in M$  and  $y \in X$  with  $||x - y|| \ge \epsilon$ .

**Corollary 7.** Let  $1 , let X be a Banach space, and let M be an arbitrary bounded subset of X. Then, X is locally uniformly rotund space if and only if, for any <math>\epsilon > 0$  and  $x \in M$ , there exists  $0 < \delta(\epsilon, p, x) < 1$ , such that the inequality

$$\left\|\frac{x+y}{2}\right\|^{p} \le \left(1-\delta\left(\epsilon,p,x\right)\right)\frac{\left\|x\right\|^{p}+\left\|y\right\|^{p}}{2} \tag{46}$$

holds for all  $y \in X$  with  $||x - y|| \ge \epsilon$ .

#### **Conflict of Interests**

The authors declare that there is no conflict of interests regarding the publication of this paper.

#### Acknowledgments

The authors thank the referee for very thorough reading the paper and suggesting a useful comment. The project is supported by the Natural Science Foundation of Inner Mongolia (Grant no. 2012MS1022) and Foundation of Inner Mongolia Normal University RCPY-2-2012-K-034.

## References

- J. A. Clarkson, "Uniformly convex spaces," Transactions of the American Mathematical Society, vol. 40, no. 3, pp. 396–414, 1936.
- [2] M. M. Day, Normed Linear Spaces, Springer, Berlin, Germany, 3rd edition, 1973.
- [3] M. M. Day, "Some more uniformly convex spaces," Bulletin of the American Mathematical Society, vol. 47, pp. 504–507, 1941.
- [4] M. M. Day, "Uniform convexity III," Bulletin of the American Mathematical Society, vol. 49, pp. 745–750, 1943.
- [5] O. Hanner, "On the uniform convexity of L<sub>p</sub> and l<sub>p</sub>," Arkiv för Matematik, vol. 3, pp. 239–244, 1956.
- [6] R. Huff, "Banach spaces which are nearly uniformly convex," *The Rocky Mountain Journal of Mathematics*, vol. 10, no. 4, pp. 743–749, 1980.
- [7] J. Lindenstrauss and L. Tzafriri, *Classical Banach Spaces*, Springer, Berlin, Germany, 1973.
- [8] G. Köthe, Topological Vector Spaces I, Springer, Berlin, Germany, 1969.
- [9] F. Sullivan, "A generalization of uniformly rotund Banach spaces," *Canadian Journal of Mathematics*, vol. 31, no. 3, pp. 628– 636, 1979.
- [10] X.-T. Yu, Geometric Theory of Banach Space, East China Normal University, Shanghai, China, 1984, (Chinese).



The Scientific World Journal





**Decision Sciences** 







Journal of Probability and Statistics



Hindawi Submit your manuscripts at http://www.hindawi.com



(0,1),

International Journal of Differential Equations





International Journal of Combinatorics





Mathematical Problems in Engineering



Abstract and Applied Analysis



Discrete Dynamics in Nature and Society







Function Spaces



International Journal of Stochastic Analysis



Journal of Optimization